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OR (3121an)

Briefly discuss the nature and scope of management ?

U§gq & W@oU 3R drRiad X Gag ¥ g4l
B |

Explain the process of formation of partnership
form of business organisation.

AMMR® G &) SN & o )
yfpar qarsvu |

OR (3121a1)

Explain the steps in the formation of these business
organisation.

AR AMSH & TS & AV B ARl
B |
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2019(0Odd) o1d Sylabus

Time : 3Hrs. Sem - VI / Mech. Engg
Industrial Management

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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MRS AT B JILRON Bl SIS |

What is plant layout ? Discuss in brief.

4
Wic dIATSe A1 & ? 8y A g9 |
OR (3121a1)
Explain the objectives of plant layout ?
WiC d3SC & Il B ATE=AT I |
What are the role of a purchasing manager.
Describe in brief.
4

P YSH DI BT T 2 ? WEY F quiA
N |

OR (3121a1)

What are the purchasing activities which take place
in an organization ?

fody Hroq ¥ wa fafatrat «ar grdt @ 2

0T6028

(i)

(1i1)

(iif)

(iv)

3 25603

(@) = THSBAr
(@) ysfa A Scucs L
(%) Surqa g+

Which of the following is not an inventory.
(a) Machine

(b) Raw material

(¢) Finished products

(d) Consumable tool

frefefaa & @ @19 te gddl 8 & ?
(31) =efe

() @zt AT

(W) d9R ST
(3) SuHIv™ wrEE

Re-ordering level is calculated as

(a) Maximum consumption rate x Maximum
re-order period

(b) Minimum consumption rate x Minimum
re-order period

(c) Maximum consumption rate x Minimum
re-order period

(d) Minimum consumption rate x Maximum
re-order period

P.T.O
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Which of the following colour is used for
radiation hazard ?

(a) Red

(b) Orange

(c) Green

(d) Purple

fafezor @ar @ fag e A 9 fea <
BT SUAIT fpar Sirar 2 |

(31) <t

(@) IR

(|) =

(2) =i

The objectives in corporate governance are.
(a) Growth

(b) Stability

(c) Share holder value maximization

(d) All of the above

BIuke YIma- ¥ S 2 |

(@1 fasr

(¥) Rerar

(@) IRURS AfHAA Jed o Td 2
(%) Swida g+

0T6028

(vi)

(vi)

(vii)

5 25603

"Green House Effect " means

(a) Cultivation of crops in green house to
conserve heat

(b) Trapping of solar energy due to
carbon dioxide gas

(c) Trapping of solar energy by earth upper
surface

(d) Increase of heat due to atmospheric
pollution

“IfIF B8 B dex’”’ &I Addd 2 |

@) = d Tar9 & fav A5 s °
Bl B Gl

(@) B SATHES T & BRI
3R oIl ST BT

(|) gt & SHud |ag g IR Hol
BT AT

(]) argHSelI yguel & HROT W A
qf&

The maximum biological damage is
produced by.

(a) X-rays

(b) Beta -rays

(¢) Gamma-rays

(d) Alpha-rays

P.T.O
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(31) ST A3MMST

() ufspar Asmse

(@) ~if¥aa Rerfa <emse

(2) WaIoI® o3msSe

This chart is a graphic representation of all
the production activities occurring on the
shop floor.

(a) Operation process chart

(b) Flow process chart

(c) Templates

(d) All the above

I 91¢ B D B WX B arell ¥
Sadreq fafaferat &1 e afes
gfafiferea 21

(3n) atfaRe= gfspar ard

@) vare ufswar =rd

(|) <HeicH
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(ix)
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hel SAUGH @G BT d 2 |
(31 ®9 99T TBR

(@) Scurewar # gfg

(@) T wwg =

(]) SWiad # 4 HIg 2|

(Number of breakdown/Available machine
hours) is

(a) Maintenance effectiveness

(b) Frequency of breakdown

(c) Effectiveness of maintenance planning
(d) None of the above

dBSST D GE&IT /Ul —H+ =S
B Gl

(31) TErREE yHIEaE erdr

@) g @1 sngfa

(4) YExEra Fio=ET B yHIaEierdn

(%) SWiad # 4 HIg 2|

With the increase in preventive maintenance
cost, breakdown maintenance cost.

(a) Increases

(b) Decreases

(¢) Remain same

(d) Only of the above

P.T.O
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9.

10.

What is safety stock ? Why it is needed ? Explain

with the help of suitable example.
8

YREAT idb FT 2 ? gHD] JaTIHdl Hl 27
SUYFd SSTEOT DI GEAAT & THSY |

OR (3121a1)

What is EOQ ? Derive the formula for determining
the EOQ ?

EOQ &1 8?7 EOQ &1 faeixvr &1 @ forv
A FA~ BN |

Define water pollution ? Give brief classification
of water pollution.?

STl gquel &bl gRAIRNT &R? S uguel
&1 it affever
OR (3121an)

What is industrial waste ? State the harmful effect

of industrial waste.

P.T.O
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9.

10.

What is safety stock ? Why it is needed ? Explain

with the help of suitable example.
8

YRET i FT 2 ? SHD] ATaHdl Al 272
IYYFd IETET I FEHAT § FHSY |

OR (312141)

What is EOQ ? Derive the formula for determining
the EOQ ?

EOQ @1 8?7 EOQ &1 e &34 & fag
A FA~ BN |

Define water pollution ? Give brief classification
of water pollution.?

STl YgNUT Bl IRAG HR? STl gguuT
&1 dféra aEftevor
OR (312141)

What is industrial waste ? State the harmful effect
of industrial waste.

P.T.O
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